f1 = 210+ 39 + 28+ 28710 +T8T9 +T7T8 + T + LTy +T5T8 +T5T7 +T4T11 +
T4T10 + 428+ T4T7 + TyT6 + T3T11 + T3T10 + T3T7 +T3%6 + T2 +22X10 + T227 +
ToT4 + T2T3 + T1T10 + X128 + T1T7 + T1T6 + T124 + T122

fo = x11+ 10+ 28711 +T7T10 +TeT9 + TeT7 +T5T9 + T5T6 + TaT11 +T4T10 +
T4T9 +X4T6 + 23211 + X325 + T2 + XT2T11 + T2T10 + T2T9 + T2Xs + T2Xs5 + Ta2Ta +
1+ 21211 + 2129 + 2128 + T127 + 2125 + T1T2

f3 =149+ 9210 + 28T 10 + T7T8 + TeT11 + TeT10 + T5T10 + T5T9 + T5T8 +
T5T7 + T5T6 + TaZ11 + TaZ10 + TaT9 + T3 + T3T10 + T3T9 + 327 + T3Te + T3T5 +
To + ToX11 + T2Xg + ToZ7 + ToXg + T2Xs + Ty + To2X3 + 1011 + T1T9 + T1X2

fa = xow11 + T9T10 + T7 + T7T11 + TeT- + T5 + T5T10 + T5Tg + T4 + Tew11 +
T4X9 + T4Te + X3 + 3211 + X3%10 + T3Tg + X327 + T3Te + TaXg + T2xs + To2T7 +
ToXs5 + Ta2®q + T2x3 + 21 + T12T10 + X129 + T1T8 + T1T6 + 2123

fs =1+ x9+ 28 + 28711 + T7 + T6T9 + TeTg + TeT7 + Ts + T5T11 + TsT10 +
T5T7 + T5Tg + Tg + T4T10 + T4Tg + Ty4xg + T4x7 + T4T5 + T3 + T3T11 + T3T9 +
T3Ts5 + To2Tg + To2Xs + T1211 + T1T10 + T1X8 + T1X7 + T1%6 + X123 + T1T2

fo = 1+m10711 + 2911 + 27+ 2728+ T6T10+T6To +T6Tg +T6T7 +T5+T5T11+
T5L9 + T5T7 + Ty + T4211 + T4X10 + T4T9 + T4X7 + T4T6 + T4T5 + X329 + T3T4 +
To + Taxg + ToTg + X223+ 21 + 21210 T T1%9 +T1T8 + 2125 +T1T4 + 2123 +T122

fr=xu+z10+T10211 +T9+ T8+ 27+ 27T8 +T6T10+ T6To +T5T11 +T5T10+
T5T9 + T5Tg + T5L7 + T4T11 + TaTg + T4T8 + TuTe + TaT5 + T3 + T3Tg + T3Te +
T3T5+ T2+ T2l + X228 +T2X7 +T2T4 + 2128 + X127 + 2125 + 2174 +21T3 +T122

fs = 1+ xg+x7+a708+ 26710+ T6L7 +T5T10+ T4+ TaTg+T4T8+T4T6+ T3+
T3T8+T3T7 +T3Tq+ T2 +To2T7 +22%6 +T2T5+ 2224 +T1211 +T1T9+ 2127+ 2123



